Solving Equations from Visual Models
Tape Diagrams:
· Example 1
[image: A picture containing box and whisker chart

Description automatically generated]
Solution:
[image: Graphical user interface, text, application, email

Description automatically generated]


· Example 2
[image: Shape, rectangle

Description automatically generated] 
Solution:[image: Graphical user interface, text, application, email

Description automatically generated]


Hangar Diagrams:
· Example 1
[image: Graphical user interface

Description automatically generated with medium confidence]
Solution:
[image: Graphical user interface, text, application, email

Description automatically generated]



· Example 2
[image: Diagram

Description automatically generated with low confidence]
Solution:
[image: Text, application, email

Description automatically generated with medium confidence]
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The hanger has equal weight on each side. Let's start by writing an expression for the weight on
each side.

The left side of the hanger has one weight which weighs 15 units.

The right side of the hanger has two weights, one of which weighs b units and the other which
weighs 8 units.

The right side of the hanger weighs b + 8 units.
So, the hanger shows us 15 = b+ 8.

To get the b alone and find out its weight, we need to take away 8 units from the right side of
the hanger.

To keep the hanger balanced, we need to take away 8 from the left side of the hanger too.
b=15-8="7

b=17
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The hanger image below represents a balanced equation.

Find the value of 1 that makes the equation true.
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The hanger has equal weight on each side. Let's start by writing an expression for the weight on
each side.

The left side of the hanger has 5 weights, each of which weighs u units.
The left side of the hanger weighs 5 X  units, which we can simplify to 5u units.
The right side of the hanger has one weight which weighs 60 units.

S0, the hanger shows us 5u = 60.

1
The weight labeled u weighs = as much as the 60 unit weight.
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The tape diagram represents an equation.
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Find the value of  that makes the equation true.
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We have two tapes that are the same length. Lets start by writing an expression for the ength
of each tape.

“The top tape has a length of 17 uits.

“The bottom tape has two part, one with a ength of 4 units and the other with a length of &
units.

The totallength of the bottom tapeis 4 + k units.
S0, the tape diagram shows us 17 =4+ k.
“The section labeled k is 4 unts shorter than the 17 unit long tape.

k=174

k=13
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The tape diagram represents an equation.

Find the value of d that makes the equation true.

d
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We have two tapes that are the same length. Let's start by writing an expression for the length
of each tape.

The top tape has a length of 35 units.
‘The bottom tape has 5 parts, each with a length of d units.
‘The total length of the bottom tape is 5 x d units, which we can simplify to 5d units.

So, the tape diagram shows us 35 = 5d.

1
The section labeled d i - the length of the 35 unitlong tape.

5
5

a=7
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The hanger image below represents a balanced equation.

15

Find the value of b that makes the equation true.





